m- j]u ::—I5 m /% ﬁl,l Z AR MM AT 0 T 5. AR 4E 2S5 A AS[E] 5 Smm AN Smm 7

R T BRI 0 T SE ik 1

OR-VISE

/ P
77NN
( ()
R /

BK2-VT+3 DK2-VT+5/DK2-VTI+5 FK2-VT+5
A N R
pe B c D = [ hay:=cl 54 %}fﬁjj ;ﬁ;@ . (g) ?R%
BOME | HEE |BxE Qi f (=)
BK2-VT+3 33 35 37 29 15 21 25 M8x20 25 43 70 30-34
DK2-VT+5 52 55 59 4 22 30 4 M12x30 55 145 235 30-34
DK2-VTI+5 2.04 216 232 161 08 118 015 1/2-1 1/4" 55 145 8.28* 30-34
FK2-VT+5 67 70 7D 56 29 42 5 M16x40 100 360 550 30-34

DK2-VTI+5 A2 BT FIEF].

EEHS: AAIMIRM+EERMN

A o 1
e B |6 | o || B | ke am 2L | x#mEm | vEmme
era‘ = ‘v:m mml BB Ixx&
BK2-VT+3S 30 32 34 16.5 17.5 185 28 15 21 25 M8x20 22 43 65 30-34 48-52
DK2VT+55 47 50 54 26 215 295 54 22 30 4 M12x30 55 145 210 30-34 48-52
DK2-VTI+5S 1.85 1.97 212 1.00 1.08 116 161 086 118 015 1/2-1 1/4" 55 145 713" 30-34 48-52
FK2NT+55 62 65 0 335 35 375 58 29 42 5 M16x40 100 380 500 30-34 48-52

DK2-VT1+5S MY E R ~THEE].




